
PLANT PROTECTION

nm°Y gßajU

( The ory )

(351)

Time : 2 Hours ] [ Max i mum Marks : 60

g_` : 2 K Q>o ] [ nyUm™H$ : 60

Note : All ques tions are com pul sory and carry marks as in di cated against each

ques tion.

{ZX}e> : g^r ‡ÌZ A{Zdm`© h¢ Am°a ‡À òH$ ‡ÌZ Ho$ AßH$ gm_Zo {XE JE h¢ü&

1. Choose the correct answer and write (A) or (B) or (C) or (D) in the answer-book,

as the case may be : 1×9=9

ghr CŒma Mw{ZE Am°a CŒma-nwpÒVH$m _| (A) `m (B) `m (C) `m (D) Omo ^r hmo, {b{IE :

(i) Biological agents are preferred to chemicals because

(A) they are easily available

(B) they help to avoid environmental pollution

(C) they can be stored for long periods

(D) they give resistance to the plants

O°{dH$ EOo›Q>m| H$mo agm`Zm| H$s VwbZm _| ~ohVa _mZm OmVm h°, ä`m|{H$

(A) ò AmgmZr go Cnb„Y h¢

(B) BZgo n`m©daU ‡Xy{fV Zht hmoVm

(C) ò bÂ~o g_` VH$ ^ßS>m[aV {H$E Om gH$Vo h¢

(D) ò nm°Ym| _| ‡{VamoY CÀnfi H$aVo h¢

(ii) Which one among the following is an antagonist?

(A) Pythium sp. (B) Fusarium sp.

(C) Trichoderma viride (D) Helminthosporium sp.
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{ZÂZ _| go H$m°Z-gm ‡{VH$maH$ h°?

(A) nmB{W`_ Om{V (B) ‚`yµOo[a`_ Om{V

(C) Q¥>mBH$moS>_m© Om{V (D) hob{_›WmoÒnmo[a`_ Om{V

(iii) Leaf curl of papaya is a

(A) fungal disease (B) vi ral dis ease

(C) mycoplasmal disease (D) tristeza disease

nnrVo H$s nŒmr E|R>Z

(A) \$\ßy$Xr amoJ h° (B) {dfmUw amoJ h°

(C) _mBH$moflbmµµ¡_m amoJ h° (D) {ÃÒVoOm amoJ h°

(iv) Choose a systemic fungicide from the following :

(A) Benomyl compound (B) Brestan

(C) Thiram (D) Captan scale

{ZÂZ{b{IV _| go ghr \$\yß$XZmer H$m MwZmd H$a| :

(A) ~oZmo_mBb `m°{JH$ (B) ~o´ÒQ>mZ

(C) WmBa°_ (D) H°$flQ>mZ ÒHo$b

(v) Fish meal is set up to control

(A) cotton whitefly (B) sor ghum stem borer

(C) sorghum shootfly (D) sug ar cane

{\$e _rb H$m ‡`moJ {ZÂZ{b{IV Ho$ {Z ß̀ÃU Ho$ {bE {H$`m OmVm h°

(A) H$nmg H$s g\o$X _äIr (B) ¡dma VZm ~oYH$

(C) ¡dma eyQ>‚bmB© (D) Jfim

(vi) Drooping of shoot and flower buds in brinjal is an indication of presence of

(A) whitefly infestation (B) aphid infestation

(C) bean beetle infestation (D) fruit borer infestation

~¢JZ _| _waPm ò ‡amoh Am°a \y$b H${bH$m`| {ZÂZ{b{IV CnpÒW{V ~VmVr h°ß

(A) g\o$X _äIr H$m J´gZ (B) E{\$S> H$m J´gZ

(C) go_ ^•ßJ H$m J´gZ (D) \$b ~oYH$ H$m JǵZ
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(vii) Fish oil resin soap is sprayed to control

(A) cotton bollworms

(B) tobacco caterpillar

(C) sorghum shoot borer

(D) sugarcane shoot borer

{\$e Am∞̀ b ao{gZ gmon H$mo {ZÂZ Ho$ {Z ß̀ÃU Ho$ {bE {N>ãS>H$Vo h°ß

(A) H$nmg Ho$ dm∞bd_©

(B) VÂ~mHy$ H$s gy±ãS>r

(C) ¡dma ‡amoh ~oYH$

(D) Jfio H$m ‡amoh ~oYH$

(viii) The common chemical used for air charging in storage godown is

(A) monocrotophos (B) phosalone

(C) malathion (D) BHC

^ S>ma JmoXm_moß _| dm`w H$mo Amdo{eV H$aZo Ho$ {bE Cn`moJ {H$`m OmZo dmbm gm_m›` agm`Z h°

(A) _moZmoH´$moQ>mo\$m∞g (B) \$mogmbmoZ

(C) _°b°{W`m∞Z (D) ~r0 EM0 gr0

(ix) Covering of fruits is recommended to control

(A) the fruit rust thrips in banana

(B) the fruit borer in pomegranate

(C) the citrus butterfly in citrus

(D) the apple borer in cashew

\$bm| H$mo T>H$Zo H$s {g\$m[ae {ZÂZ Ho$ {Z ß̀ÃU Ho$ {bE H$s OmVr h°

(A) Ho$bo _| \$b {H$≈>

(B) AZma _| \$b ~oYH$

(C) {gQ≤>ag _| {gQ≤>ag H$s {VVbr

(D) H$mOy _| go~ ~oYH$
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2. Write ‘T’ for True and ‘F’ for False statements in the answer-book : 1×9=9

CŒma-nwpÒVH$m _| ghr H$WZ Ho$ {bE "T' Edß JbV H$WZ Ho$ {bE "F' {b{IE :

(a) Diamondback moth is a pest on potato.

hraH$n•> eb^ Amby H$m ZmerH$sQ> h°ü&

(b) Tea mosquito bug is a pest on tea only.

Q>r _m∞ÒH$sQ>mo ~J Ho$db Mm` H$m hr ZmerH$sQ> h°ü&

(c) Raking the soil is one of the management practices against ber fruit fly.

^y{_ H$s aoqH$J ~oa H$s \$b _äIr Ho$ {dÈ’ ‡~ßYZ n{’V h°ü&

(d) Cardamom aphid transmits rattle disease.

Bbm`Mr H$m E{\$S> a°Q>b amoJ \°$bmVm h°ü&

(e) Providing dunnage helps moisture seepage from the ground to the grains.

S>ZoO XoZo go \$e© H$s Z_r XmZm| _oß Mbr OmVr h°ü&

(f) Rice weevil attacks only rice grains.

YmZ H$m KwZ Ho$db YmZ Ho$ XmZm| na hr AmH´$_U H$aVm h°ü&

(g) Aluminium phosphide is available in liquid form.

Eobw{_{Z`_ \$m∞Ò\$mBS> Vab Í$n _| Cnb„Y h°ü&

(h) BPH is a vector of Rice Tungro Virus (RTV).

~r0 nr0 EM0 YmZ Qw>Jamo dm`ag (RTV) H$m amoJdmhH$ h°ü&

(i) Carbofuran 3G can be applied for control of sorghum stem borer.

¡dma Ho$ VZm ~oYH$ H$m {Z ß̀ÃU H$aZo Ho$ {bE H$m~m}‚ ỳamZ 3G H$m Cn`moJ H$aVo h¢ü&
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3. Match the items of Column—A with items of Column—B : 2×6=12

Col umn—A     Col umn—B      

(1) De struc tive In sects Pests Act (a) Red hairy cat er pil lar of ground nut

(2) Trench ing around the field (b) Wa ter bar rier pans

(3) Rhi noc eros bee tle (c) Dead heart

(4) Ants (d) Hook ing with an iron rod in the

bore hold in co co nut

(5) Stem borer (e) Fun gal dis ease

(6) Leaf blight (f) 1914

H$m∞b_—H$ H$mo H$m∞b_—I go gw_o{bV H$s{OE :

H$m∞b_—H$        H$m∞b_—I       

(1)

(2)

(3)

(4)

(5)

(6)

{S>ÒQ¥>päQ>d B›goäQ> noÒQ>g EoäQ>
IoV Ho$ Mmam| Amoa ImB© ImoXZm
amBZmo{gamog ^•ßJ
MtQ>r
VZm ~oYH$
nŒmr AßJ_mar

(a)

(b)

(c)

(d)

(e)

(f)

_yßJ\$br H$s bmb amo{_b gy±ãS>r
Ob AdamoY nmÃ
S>oS> hQ>©
Zm[a`b _| CnpÒWV N>oX _| bmoho H$s N>ãS Ho$ h˛H$ H$m ‡`moJ H$aZm
\$\ßy$Xr amoJ
1914

4. Write short notes on any six of the following : 3×6=18

{ZÂZ{b{IV _| go {H$›ht N>Ö na gß{j· {Q>fln{U`m± {b{IE :

(a) Household pests

Kaoby ZmerH$sQ>

(b) Types of spraying

{N>ãS>H$md Ho$ ‡H$ma

(c) Predator

na^jr

(d) Pests of stored produce

gßJ´{hV CÀnmX Ho$ ZmerH$sQ>
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(e) Damping off

S>°pÂn®J Am∞\$

(f) Bordeaux mixture

~moS>m} {_lU

(g) Systemic fungicides

gdm™Jr H$dH$Zmer

(h) Advantages of biological control

O°{dH$ {Z ß̀ÃU Ho$ bm^

5. Write notes on any two of the following : 6×2=12

{ZÂZ{b{IV _| go {H$›ht Xmo na {Q>fln{U`m± {b{IE :

(a) Pest and its categories

ZmerH$sQ> Am°a CgH$s lo{U`m±

(b) IPM for rice

YmZ _| AmB0 nr0 E_0

(c) Classification of insecticides

H$sQ>ZmeH$m| H$m dJuH$aU

(d) Management of wheat diseases

Johˇ± _| amoJ ‡~ßYZ

H H H
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